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Contrary to the theory of balanced growth, in Hirschman's opinion, the real bottleneck is not the shortage of capital, but lack of entrepreneurial abilities. Potential entrepreneurs are hindered in their decision-making by institutional factors: either group considerations play a -great role and hinder the potential entrepreneur, or entrepreneurs aim at personal gains at the cost of others and are thus equally detrimental to development. In view of the lack of enterpreneurial abilities there is a need for a mechanism of incentive and pressure which will automatically result in the required decisions. According to Hirschman, not a balanced growth should be aimed at, but rather existing imbalances— whose symptoms are profit and losses—must be maintained. Investments should not be spread evenly but concentrated in such projects in which they cause additional investments because of their backward and forward linkages without being too demanding on entrepreneurial abilities. Manufacturing industries and import substitutions are relevant examples. These first investments initiate further investments which are made by less qualified entrepreneurs. Thus, the strategy overcomes the bottleneck of entrepreneurial ability. The theory gives no hints as to how the attitude of entrepreneurs and their institutional influence will be changed in time.
Unbalanced growth is a situation in which the various sectors of a given economy are not growing at a rate similar to one another. Specific sectors of the economy will be growing at a rapid rate, while other sectors are either stagnant or experiencing a significantly reduced rate of growth. When economic growth patterns such as unbalanced growth appear, the phenomenon usually indicates that major shifts in the overall economy are about to take place. 

There are a number of different theories about what produces unbalanced growth. Some opinions are based on an imbalance between imports and exports connected with the economy of the country. This understanding involves production that once took place within the country has now moved to another nation. While the goods are still available, they are now imported rather than produced domestically. The result is the elimination of jobs within a given industry, a rise in unemployment, and a reduction in disposable income. While imports rise, other economic segments of the consumer market fall. This creates an unbalanced growth overall.

Depending on the conditions surrounding unbalanced growth, the country may or may not have the resources to bring the overall growth back into some sort of balance. For example, the country may no longer have the production facilities to manufacture goods that are now imported regularly. Even if the facilities exist, the average production cost per unit may render the domestic goods unable to compete with the low cost associated with imported goods. 

